KNK g2 | XA | &3 | BI5R

KNK600S8 3 1-axis 5 i-jﬂzﬁb

ENHSE, HEAEEFERRYET

The picture is just for the reference. Please check the actual dimensions on the drawing.

exrseiis '%%ﬁrs 2000mm/s 'Js’z*ﬁ%inﬁrﬁ '%Emﬁﬁ o8mm-2%

Maximum Stroke Maximum Speed Belt Width Shalt Diameter

D> BSREAR Ordering Method

KNK6008 - A 95 - S800 - ML 1 - P10 - C 4 - 001

1| = = /=10 A -3 N
eis 05iE @17 @ L @ Sk mE @ 1FETF
Model Lead Stroke Axis Mode Motor Brand Special Order No.
100-3800mm L 5% Leadshine 10 57
&% 100mm M =% Mitsubishi 118
P #\F Panasonic 12 200w
T £i% Delta 13 400w
14 750w

| | |
® RHHEE ® DiAfiE ® 5B ER ® i R R 2

Belt Type Motor Position Home Sensor Limit Sensor
A =3y o3k =+ 771 " £ F1) 8
iy W ZPET R SEER. o D o
BT S MLB DIEAEEIT MR SRXGEHT C S Motor Side 1 19 1pc
Rubber fiber belt Motor left back fold Motor right back fold D mISAM OppoSite Motor Side 2 2 2pPcs

=R =N
MLU Etﬁgﬁﬁow MRU E&E&pﬁ@r fold E 7T SENSOR No Sensor 3 34 3pcs

MLD ZEETH  vrD DA T 4M

Motor left lower fold Motor right lower fold




g2 | XA | &3 | BIFR

KN KGOOS 30 1-axis 555 gtiﬁiﬁb

D) KNKiZEZAHIHA KNK Module exit mode

/50 Fx (N) 500/360

|

/5 Fy (N) 450/320

~20

##/5h Fz (N) 500/360

#8/5h Mx (N.M) 20/16

o & /S

peojuoileiqiesJapis

&8/5h My (N.M) 16/12

#/50 Mz (N.M) 40/30

>> Eax{t#¥ Specification

B EEFERE Repeatability (mm) <0.1
S42 Lead (mm) 95

//:):7‘5 Light indicator(red) J\(-B* B4R Linear Speed (m/s) 0-2

&EIH_/;;I — O 4 BAAMESR IKFAHEFE Horizontal (kg) 36

o : Maximum Payload | £ 5 {#5 FH Vertical (kg) 25

XEYT ’*{ I) I*'C (Rl - ATAHETTAE Stroke Width (mm) 100-3800/100i&]f@
x

Main
i AT A \ =]
CWTU‘ o v?gg?ni%?%m EACSIAAE Adaptive motor capacity 86/400/750w

BHETE Belt Width (mm) 20

FtEHER Shaft Diameter (mm) 8

B SR 28 Home Sensor | §ME Outside EE-SX674(NPN)




g2 | XA | &3 | BIFR

KNK6008 - == or o ]

/ ) %mumt:n§
B EEEHT 5. HMATEL stroke WMel12 HAIR65. 5
Motor straight to left fold imi 3 Slider Limit

SN [f] 5 S
Induc\tion plite fixed hole

i
o

—

60

JEAEM6 J5 TE MR EE Trial M6 square nut

W Nut slot

JEm
ZRAL Mounting holes

pul

Zﬂ *jéﬁﬁl’roﬁle section
A3i3#Stroke(mm) | 100 | 200 | 300 | 400 | 500 | 600 1700|800 | 900 | 1000|1100 1200  1300] 14001 1500 1600 | 1700 1800 | 1900

EEL(mm) 373 | 473 |573 | 673 | 773 | 873 |973 | 1073|1173 1273|1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 531 | 5.67 | 6.03 |6.39 |6.75 |7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
B34 4752Stroke(mm)
EEL(mm) 3873 3973 | 4073
BEG (kg) . . . . . . . . . . . . . . . .03/ 15.39| 15.75| 16.11

(8 R EHEEAH sttt
Motor straight right fold Hel65. 5 T —— 142 e 5

Limit 4-M3 Slider Limit
SRR T [ E L

Induction p{ate fix%i hole

e O

0]

12-M6

/ﬁﬁ Mounting holes

i*j Eﬁﬁ Profile section
mlm

,E\'LtL(mm) 373 | 473 | 573 | 673 873 | 973 | 1073|1173 | 1273 | 1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BHEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 5.31 | 5.67 | 6.03 |6.39 | 6.75 | 7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
BM{T7EStroke(mm) | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800
BEL(mm) 2273|2373 | 2473 | 2573 | 2673 | 2773 | 2873 | 2973 | 3073 | 3173 | 3273 | 3373 | 3473 | 3573 | 3673 | 3773 | 3873 | 3973 | 4073
BHEG (kg) 9.63 | 9.99 | 10.35 10.71] 11.07| 11.43| 11.79| 12.15| 12.51| 12.87| 13.23| 13.59| 13.95| 14.31 14.67, 15.03) 15.39 15.75| 16.11




g2 | XA | &3 | BIFR

K N KG o O 8 E $$ 1 axs Speed chanlgge\ Elfgiﬁlﬁfie{i jl::ngeﬁizfa):fﬂz

%ﬁ‘LUnit:rh

LB TEEMEGE(2:1) " \
Speed change kit left back fold A BATHE stroke_ P42 R ER65. 5
4-M3 Slider Limit
SN [F e AL
Induction plats fixed Qole
e — 1] ©

O

o
I

i M6 J5 T2 R Trial M6 square nut
2 (34 Nut slot

12-M6

g%j L Mounting holes

'S

& |

43

E’E *d' éﬁﬁ Profile section
A3{7#Stroke(mm) | 100 | 200 1300 1400 1500 | 600 | 700 | 800 | 900 | 1000 1100 1200 1300 1400 1500 | 1600 1700 1800 | 1900
BEEL(mm) 373 | 473 |573 | 673 | 773 | 873 |973 | 1073|1173 1273|1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 531 | 5.67 | 6.03 |6.39 |6.75 |7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
B34 4752Stroke(mm)
BEEL(mm) 2273 3873 | 3973 | 4073
BEG (kg) 9.63 | 9. . . . . . . . . . . . . . .03/ 15.39| 15.75| 16.11

%ﬁzUnit:nm

RB TEEMAREHT(2:1)

Speed change kit right back fold {2 BR65. 5 HRATHE stroke 142 12 BR65. 5
Limit 4-M3 Slider Limit
SRSy [ 5L

Induction pla\e fixed Qole

] R 4
=L

Lol —=

& HEM6 7 T2 B Trial M6 square nut
W2 REFE Nut slot

J
M—
!

8 1216
2L Mounting holes

43 =

ﬂ *j‘ éﬁ EProfile section
mlm

,E\'LtL(mm) 373 | 473 | 573 | 673 873 | 973 | 1073|1173 | 1273 | 1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BHEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 5.31 | 5.67 | 6.03 |6.39 | 6.75 | 7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
BM{T7EStroke(mm) | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800
BEL(mm) 2273|2373 | 2473 | 2573 | 2673 | 2773 | 2873 | 2973 | 3073 | 3173 | 3273 | 3373 | 3473 | 3573 | 3673 | 3773 | 3873 | 3973 | 4073
BHEG (kg) 9.63 | 9.99 | 10.35 10.71] 11.07| 11.43| 11.79| 12.15| 12.51| 12.87| 13.23| 13.59| 13.95| 14.31 14.67, 15.03) 15.39 15.75| 16.11




g2 | XA | &3 | BIFR

K N KG o O 8 E $$ 1 axs Speed chang%t%t%lﬁgdﬁ:id/c;ge k%niqhiﬁif ftﬁ

%ﬁ‘LUnit:rh

LU EEEHEL(2:1)

Speed change kit left upper fold

134T FE Stroke WP142 B PR65. 5
4-M3 Slider Limit

SN [ L

Induction plate fixed hole

60

TEHM6 T TR
Trlz;ll M6 square nut

12-M6

%44, Mounting holes

—

43
@*ﬁé&iﬁ Profile section
A3{7#Stroke(mm) | 100 | 200 1300 1400 1500 | 600 | 700 | 800 | 900 | 1000 1100 1200 1300 1400 1500 | 1600 1700 1800 | 1900
EEL(mm) 373 | 473 |573 | 673 | 773 | 873 |973 | 1073|1173 1273|1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 531 | 5.67 | 6.03 |6.39 |6.75 |7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
B34 4752Stroke(mm)
EEL(mm) 3873 | 3973 | 4073
BEG (kg) . . . . . . . . . . . . . . . .03/ 15.39| 15.75| 16.11

U TREMGLHT(2:1) %ﬁ'LUnit:nm

Speed change kit right upper fold

A RAT L Stroke 142 2 [R65. 5
4-M3 Slider Limit
SRS [ s 5L

Induction plaﬁz ﬁxeckhole

(7O°

o
—

60

XeMe T TR B

Trla M6 square nut
£}l Nut slot

r\_
J 5 : 12-M6
. AL Mounting holes
43

ﬂ*ﬁ E‘Zﬁ Profile section
mlm
,E\'kL(mm) 373 | 473 | 573 | 673 873 | 973 | 1073|1173 | 1273|1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 5.31 | 5.67 | 6.03 | 6.39 | 6.75 | 7.11 | 7.47 | 7.83 | 8.19 | 855 | 8.91 | 9.27
BITEStroke(mm) | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800
BEKL(mm) 2273|2373 | 2473 | 2573 | 2673 | 2773 | 2873 | 2973 | 3073 | 3173 | 3273 | 3373 | 3473 | 3573 | 3673 | 3773 | 3873 | 3973 | 4073
BEG (kg) 9.63 | 9.99 | 10.35 10.71 11.07| 11.43| 11.79| 12.15| 12.51| 12.87 13.23| 13.59| 13.95| 14.31| 14.67| 15.03| 15.39| 15.75| 16.11




g2 | XA | &3 | BIFR

54k 1-axis TEREMHE T | EEREHE T

Speed change kit left down fold / Speed change kit right down fold

%ﬁ‘LUnit:rh

LD ZTEEMAE F(2:1)

Speed change kit left down fold 34T 1 Stroke w142 [ BR65. 5

Slider Limit

Inductlon pla{e ﬁxed hole

o

o

—

ﬁMGTﬁ/i? i} Trial M6 square nut
2

12-M6
2344, Mounting holes

FLJ__ﬂ

i—ﬂ*ﬁéﬁﬁ Profile section
A3i3#Stroke(mm) | 100 | 200 | 300 | 400 | 500 | 600 1700|800 | 900 | 1000|1100 1200  1300] 14001 1500 1600 | 1700 1800 | 1900

EEL(mm) 373 | 473 |573 | 673 | 773 | 873 |973 | 1073|1173 1273|1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 531 | 5.67 | 6.03 |6.39 |6.75 |7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
B34 4752Stroke(mm)
EEL(mm) 3873 3973 | 4073
BEG (kg) . . . . . . . . . . . . . . . .03/ 15.39| 15.75| 16.11

/ %ﬁzUnit:nm

RD TEEMATH(2:1)

Speed change kit right down fold . H 34T Stroke T HL142 PR 65. 5
imi 4-M3 Slider Limit

SN [ 5 AL

Induction pl{te fixeg hole

ZOBE

o
i

M6 77 T2 B): Trial M6 square nut
2 R fii Nut slot

o <
J 12-M6
£ ¢ ‘% H . Mounting holes
43

@*ﬁéﬁﬁ Profile section
A3{3#2Stroke(mm) mlm

BEL(mm) 373 | 473 | 573 | 673 873 | 973 | 1073|1173 | 1273 | 1373 | 1473 | 1573 | 1673 | 1773 | 1873 | 1973 | 2073 | 2173
BHEG (kg) 2.79 | 3.15 | 3.51 | 3.87 | 4.23 | 4.59 | 4.95 | 5.31 | 5.67 | 6.03 |6.39 | 6.75 | 7.11 | 7.47 | 7.83 | 8.19 | 8.55 | 8.91 | 9.27
BM{T7EStroke(mm) | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800
BEL(mm) 2273|2373 | 2473 | 2573 | 2673 | 2773 | 2873 | 2973 | 3073 | 3173 | 3273 | 3373 | 3473 | 3573 | 3673 | 3773 | 3873 | 3973 | 4073
BHEG (kg) 9.63 | 9.99 | 10.35 10.71] 11.07| 11.43| 11.79| 12.15| 12.51| 12.87| 13.23| 13.59| 13.95| 14.31 14.67, 15.03) 15.39 15.75| 16.11




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

